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€ Complete.
1 Is it spring?
No, It's winter.
4 _ summer? 2 winter?
No,

3_ autumn?
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Reinforcement 3 m

Harry
1 What's Harry wearing? He's wearing _Lrousers, d jumper and
shoes.  rs_autumn.
2 What'’s Ruth wearing? She’s wearing and
It’s
3 What's David ?
It’s
4 What's
? It's
€@ Write the letter. Then write about Picture D.
1 I'm wearing a T-shirt, jeans A B
and sandals. It's summer. O
2 I'm wearing a jumper, jeans
and shoes. It's autumn. O
3 I'm wearing a T-shirt, shorts C D
and sandals. It's summer. O

4 I'm
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